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(1) R4 -9y® = 2x+3y)(2x-3y)

2x* —15x+7=2x-1)(x-7)

(2) cos®10°+sin’10°=1
(3) EAcBcC - Hl AuC=C

(@) By =2x T O x>~ > B 5 =1 B )= V3
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1. f#HFE: 2x* -15x+7=0
2x* -15x+7=0
fZ:  (2x-1)(x-7)=0
2x—1=0 or x-7=0

1
X =— or x,=7

1
LM =S or X = 7 R T2
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x—4<1 (1)
x+3>1 —+(2) L

fiZ : (D= x—4<1 2 5
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XHERE  x+321
x2-2

—2<x<5  FIAEAERAE



3. b (a+2bfa—2b)-(a—b)

fB: F= a*-(2b)-(a*-2ab+b?)

= gt =lht—q® 205"
2ab —5b*

a’+4a+3 a’-1
a*+a—-6 a®—6a+8
. _(a+D(@+3)  (a+D)(a-1)
e - I (a+3)a—2) (a—4)(a-2)
_(a+D)(a+3) (a—4)(a—2)
(a+3)a-2) (a+1)(a-1)

:a—4

4. AL

a—1

. c0860°—-sin30°+cot45°

5. Abf§ - : +5in45°e cos45° + cos” 32° + cos® 58° —1
1+ tan30° e tan 60°
i 1
. 2
o 22 +?.£+1_1
1+—30 3
3
:~+i+1—1
2

6. FRHAEFEME > R sin(10°+0) = cos @ PSR O HIH
fi# © sin(10°+6) = sin(90° - §)
10°+6=90°-6
0=40°



7. BRIZREBy=2x"—4x-6 > WEBKy =altx 1) + kAT REATTHREALE - £
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ff . y=2x"-4dx-6

=2(x* —2x-3)
=2(x? —2x+1-1-3)

=2[(x—1)? ~4]

=2(x—1)* -8

y=2(x—-1)>-8
CCERYBEOE L o JTERAAE K(1 0 —8) >
BRI A x=1 0y =8

8. —IKESHIEIGACE( > —1)FNQ2 > 3)REL - KL rE AT =
FE R y =k + b

@) -fs =4
B =4 KADE b=—35
y=4x-5
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T : BEE» FA£ BC L » BE=CF > AB=DC » /B=/C.
K¥ 1 LA=2D.
5% 1 fEAABF FIADCE tf » A D

[AB=DC» Z/B=/C,BE=CF (£
EF = FE (A3t
BE+EF =CF+FE (%0
BIBF = CE B E E L
FIRBAAABE = ADCE ~ (SAS
FiiBl£B=£C (&= EfHE.

2. B4 WER » L1=£2 » £3=44 -
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